R A AR A ACHAA A |
novotechnik

Siedle Group
TR/TRSRFIEL LB as
AT REE, T/EEE1X100 mm
e HE
it 2]
5% BA#R AL 5 (AIMgSI)
L 2 A Al S Z-45 (& 44 M4 x10 #24T) DIN EN
ISO 1207 (KWt fr)
SR PIFit K 140 Nem
EDAN AEHA, AISI 303(1.4305), A Bj Il HE % 5 W, IR L
M2.5x6
045k e 15 W M2.5 3R AE, RN REHER (R SR
Fe ARk Wit DU 2k 30kl k
LR oT i AL AR
T RZH 7 e R % MR, SRR R
LA
TR #31 36 PVC Bl si, 3x0.14 mm2, 2%
TRS #51 5 £ M16x0.75 (IEC 130-9) [l st 3 £ M8x1 B4 I
ITIaHAE
ERES B B TIEEE SIERE ISR
023260 TR-0010 0..10mm T AL < +0.25 %FS
023261 TR-0025 0..25mm B < £0.2 %FS
023262 TR-0050 0...50 mm T AL < +£0.15 %FS
023263 TR-0075 0..75mm il 8L < *0.1 %FS
023264 TR-0100 0..100mm  HiHm < +£0.075 %FS
107044 TRS-0010-101 0...10mm M8 #i 3 < +£0.25 %FS
107045 TR-0025-101 0..25mm M8 #idk < £0.2 %FS
= 107047 TR-0050-101 0...50 mm M8 # 3 < +£0.15 %FS
o ZERIHEEE (18 x 18 mm) 107051 TR-0075-101 0..75mm M8 $isk < 401 %FS
o PUES LB 107053 TR-0100-101 0..100mm M8k < £0.075 %FS
R s . R 023271 TRS-0025 0..25mm M16 i I < +£0.2 %FS
* ﬁmﬁéﬁ&’jﬁmlﬁjmm%é’ T IRBTIS 100X 107 iz ) 023272 TRS-0050 0...50 mm M16 $idk < £0.15 %FS
o &S, Hmnlik 0.05% 023273 TRS-0075 0..75mm M16 $i3k < 0.1 %FS
e WHEAEME £0.002 mm 023274 TRS-0100 0..100mm M6 4k < 0075 %FS
o i JH R v fih 023265 TR-0025-1 0.26mm  frifimd < 0.1 %FS
o Hius k& 023266 TR-0050-1 0...50 mm g < £0.1 %FS
° ﬁ?#{l}%ﬂ#ﬁ?ﬂ]ﬁ@‘[ﬁﬁ‘éﬁtﬁf 023267 TR-0050-05 0...50 mm L < +0.05 %FS
R B L R L
o IR B KT 2R T/TS AP R 107046 TRS-0025-1-101  0...25 mm M8 #i 3 < +0.1 %FS
I WA et R, IS TEY RAI BRIl oo TRS-0050-1-101  0...50 mm M8 #idk < 0.1 %FS
R, ESE LST 257050k, 107049 TRS-0050-05-101  0..50mm M8 Hfidk < £0.05 %FS
107052 TRS-0075-05-101  0...75 mm M8 $isk < +0.05 %FS
A 2 0 P S v, 0 L W £ e A e g 0% TRS-0100-05-101  0... 100 mm M81ﬁ; < £0.05 %FS
) 023275 TRS-0025-1 0..25mm M16 #i % < +0.1 %FS
YRRk, A A S B 25 023276 TRS-0050-1 0...50 mm M16 $idk < *0.1 %FS
023277 TRS-0050-05 0...50 mm M16 # 3k < £0.05 %FS
KB EIRAEN AN SRR A EENR R R HERE R oss TRS-0075-05 0..75mm  M16#ik < +0.05 %FS
2ot TR S5 M . o A BRI, S4B B v JgisF (- o2s279 TRS-0100-05 0..100mm  M16 #fid < +0.05 %FS

AE S R ) Al il A W i 22 T el REARR 2 5 28 R ph ORI

BT Je s 1k AR BE B, BT AL, RBEERATL
EH,

$HEH1E:022-89887198-8003/23712219-8003
f£H:022-89887199/23727926

It www.cnnovo.cn. www.cnnovo88.com
B8 :nwtk5@cnnovo.cn
BEAA:FET13114891271



KR F AL DR PR ] |
novotechnik

Siedle Group
Y M1 6%Ek HM8HEkL
' o @)
s W) = S .
'-l-ll I — 2 T "l‘l T
i " 1,6 "l'l

29,6
40,6
26
32

l

: A
@ |
td q
N| oo . . .+ .

Al . _+_
~
2

M2,5/5 deep

&

I
| of , . 3
@] = ) 22 ®%®

| — mgikoX

@ | @

Sl
&)
&
&

AF10

288"

40

$HEH1E:022-89887198-8003/23712219-8003
{£3H:022-89887199/23727926

X3k :www.cnnovo.cn, www.cnnovo88.com
BB FE:nwtk5@cnnovo.cn
BEAA:FET13114891271



R KRB IR A LG

novotechnik

Siedle Group
BASH
BEEN TR/TRS-0010... TR/TRS-0025... TR/TRS-0050... TR/TRS-0075... TR/TRS-0100...
AT 0..12 0..27 0..52 0..77 0..102 mm
TAERFE 0..10 0..25 0..50 0..75 0..100 mm
it Fiais
iR 1 1 5 5 5 kQ
BELAR 23 % +20%
BT 2tk < +£0.25 %FS < £0.2 %FS < £0.15 %FS < +0.1 %FS < £0.075 %FS
< £0.1 %FS < £0.1 %FS < +0.05 %FS < +0.05 %FS
< £0.05 %FS
L -5 1 < £0.002 mm
HRIIE 3 TAERL I <1 pA
S BRI e K L 3R 10 mA
SR TAERE 24 42 42 42 42 \
i VR 5 R PP ¥ A G P R L w5 ppm/K
AL (500 VDC) >10 MQ
#2358 B (500 VAC, 50 Hz) <100 pA
RS E
ShsekE (RSFA+1 mm) 48 63 94.4 134.4 166 +1mm
PUBATER (RFB£1.5mm) 15 30 55 80 105 +1.5mm
FATRNESME RS (C)  (TR&RF) 7 12 12 12 12 mm
B BORALH R BT (D) (TR&S) 6 32 32 32 32 mm
db (AL / T S) 80/- 120/74 150/100 180/128 200/150 g
AFBREE R 18 25 36 48 57 g
TAEZT) UKFJ5 1)) <35 <25 <2 <25 < N
TARPTRZ ) (KF-J5 18) <50 <5.0 < <5.0 < N
A kB4R TAEZ ) K5 N
oe R ARSI (FE5E 72 T 00 BIA% SR 23 A D I3 | 22 46T 20 18 14 11 10 Hz
NESH
AR R -0 ... +100 5 -30 ... +85 (4lF M8 4 it ) °C
AR G 0...95 (FLi&EE)
HinhdikRik IEC 60068-2-6 209, 5 ... 2000 Hz, Amax = 0.75 mm
Hidk Sk IEC 60068-2-27 509,11 ms
F i >100 x 10° s
R P40
Difig e et E Rk IR R T R R, KRR
FEEmM

FERAR R P AR R B . M . PRERIERE . HUAMTPRBEAE Aoy T KA T B R BB, A% 138 TARAE LIS SRR
A FL R A 2 i R PR ES R, ELE R AN R (le < TpA) RS PRSHHED,

BRHMEY
M16 5k M8 HEBY TR EFE
1 kit
I i 3 i TAEHUE GND
e 4 Tt i f5e Za
P PYTR W GND TR
S 4 % s % s
e 2 s s s st

") BOFFAEREIE, A A 2 AR T

*NFEBIMEREG, FESHEET,

HeLkld

$HEF15:022-89887198-8003/23712219-8003

{£H:022-89887199/23727926

ik -www.cnnovo.cn. www.cnnovo88.com

BB :nwtk5@cnnovo.cn
BEAA:FET13114891271

HeLkld

© 09/2020

A e,
AT TR,



